Efficiency vs P,

F 0.7
o
£20.09
>
20.08
@
(&)
20.07
[J]
0.06
0.05
0.04
0.03
0.02
0.01

[—— DQW_original_stepZ_Tibar-phaseI-newgeom
—e— DQM_mkFit_step2_tthar-phasel-newgeom
—— DQM_angle_step2_ttbar-phasel-newgeom
—+— DOM fast_step2_ttbar-phasel-newgeom

...............................................

Efficiency vs ¢

b

o 0.2
4
20.18
2
50.16
(&}
£0.14
(]
0.12
0.1
0.08F
0.06F
0.04f

.....................................

.......................................

0.02k

o o : : T

5 b VL] el 5

el q 11
0Z3 T 0 1 2 3

TP @



	Contents
	Page 1


